ORR Notes - Russia

KQ: What problems followed Russia’s falling back into recession?
The international trade boom ended by the turn of the century. This was very serious for Russia for one key reason: Population: 

Growth of population in Russia’s two main cities (taken from M.Lynch p. 17)

St Petersburg



Moscow

1881
928,000



753,500

1890
1,033,600



1,038,600

1897
1,263,700



1,174,000

1900
1,439,600



1,345,000

1910
1,905,600



1,617,700

1914
2,217,500



1,762,700

What does the table show? Graph your results. 

This great increase in population was especially serious in Russia as it was unco-ordinated and led to acute overcrowding. Peasants had been lured to the cities with promises of higher wages but with the recession wages fell and peasants became disaffected. It was easy to see how they became infected with revolutionary zeal. 

Whilst the economy did recover somewhat (grew by 8.5% in the period 1908-14) the workers still suffered – in the period between 1908 and 1914 inflation rose by 40% but wages rose by only 7%. Economic dissatisfaction fuelled political polarisation and led to rioting and urban unrest. 

Did the economic recovery benefit urban workers? 
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